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M.SC II SEMESTER
END SEMESTER EXAMINATION: APRIL 2023
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CS 8421 – COMPILER DESIGN
(For current batch students only)
Time: 2 Hrs.									Max Marks - 50
            This paper contains 3 printed pages and three parts.

Part A
I Answer all the following 								5*2=10 
1. Find the number of tokens for this code snippets
a) int max(x,y)
int x,y;
{
   Return(x>y?x:y);
}
b) printf(“%s hai”,&X);
             scanf(“%s hai”,&z);

2. Compute Linear probing for the data 1,17,29,37,45,47,59,81 with the bucket size 13 (index from 0 to 12).
3. Convert the following grammar from left to right recursion  A->ABd/Aa/a ,B->Be/b  
4. For the given set of productions ,Generate the semantic actions 
S --> E
E --> E1 + T
E --> T
T --> T1 * F
T --> F
F --> digit
 5. Allocate the registers for the code t0 = c * d
                                                a  = b + t0 
      and write the same in assembly language.

Part B
II Answer Any Five of the following 						5 * 4 = 20
 6. Explain the phases of a compiler for the code a=b+c*d+80.
7. Construct a binary search tree for the data 6,5,9,10,11,13,4,3,7,12 and find all the three types of traversals.
8. Check whether the given input string w=(a,(a, a)) can be accepted for the given grammar using shift reduce parsing.
S->L
S->(L)/a
L->L,S/S 
9. Generate the parse tree using LR(0) for the productions 
E->BB.
B->cB
B->d and check whether the string ccdd can be accepted.
10. Write a short note on storage allocation strategies.
11. Find first() and follow() for  
       S->aBDh
       B->cC
       C->bC/€
       D->EF
       E->g/€
       F->f/€

12. Illustrate on Activation tree and Activation records.

Part C

III. Answer any two of the Following					10* 2= 20

13. a) What is a symbol table? What are the data structures used by symbol table to store the data . 							                        (5 marks)
      b) Explain the role of Lexical analyzer?                                                  (5 marks)                    							   
14. a) Construct parse tree for the input string w= (b(b,b)) using LL(1) top down parser.       
                                                                                                                             (7 Marks)     
       S        (L)/b
        L        SL’
        L’      є /,SL’  
    b) Generate an operator precedence table for                                                (3 Marks)
                               E->E+T/T
                               T->TxV/V     
                               V->a/b/c/d      
15.  a) Differentiate Inherited attributes and  Synthesized attributes.               (6 Marks)
       b) What is peep hole optimization and Mention its objectives.                  (4 Marks)                                     
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